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FAAMES
A HZRAZHI(AES)
Cel: QER2YHI(MES) A
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SRS 375,515 423,333 A\47,818
HH2AGHI(MES) 113,486 128,775 A15,289
IARIH|(AZE) 51,428 58,607 AT, 179
QIHA2AHI(AMES) 51,428 58,607 AT, 179
101 21AH| 51,428 58,607 AT, 179
01 2= 51,428 58,607 AT,179
OAlt22+4 51,428
—6= 12,5313 %2 +30A1 2t 122 9,023
—7= 11,3192 x3Z *30A1 2+ 123 12,225
—85 10, 1622 x5 *30A[ 2+ 123 18,292
—9= 9,620 x32*30AI 2+ 123 10,390
—HMRME=2 49,928, 0403 *3% 1,498
Jl2gHI(AES) 62,058 70,168 28,110
JlE2ZHI(AES) 62,058 70,168 28,110
201 er23 | 49,828 53,628 23,800
01 At2teltl 24,568 26,568 22,000
ORAMEEgdet+=EH] 7,000, 000& *90% 6,300
OJlzge-dS2 Al
8,0003»14H+53]x 123 6,720
O 2] 30,0002 =10 300
O82= & & A=+
1,200,000 1,200
OsEsgeall EW 7l
250,000 x2CH =23 1,000
ORMIBEAIE= FIItHEH
880,000 <22 1,760
OZclE%] 7,288
—RQoIFHIAIAE EAY
150,000& * 12 1,800
—LHEWCY RA2e] E9H
66,0002« 122 792
—Sgsg8esll RAE*
104,000~ 12& 1,248
—agordae| ez
12,3103+ 122 1,348
—HiioiE LMAIAE SSbI
175,000« 128 2,100
02 S52g4l 25,260 27,060 21,800
O382= € HA 20,760
—RER= 300,000& * 122 3,600
—HIIe3 1,250,000 122 15,000
—=E2= 150,000 «12& 1,800
—StZ 30,0002~ 12& 360
OAlZ &I Xl 2,400




FAAMES
A HZRIZHI(AES)
e©elr J2ZHI(MES) (S & 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—EMAE RXEs 2,400,000 2,400
Ot eI 2,100
—A8stEA FAMI 1,500,000 *1CH 1,500
— IS8R | 600,000 1CH 600
202 04l 3,360 3,360
01 =LHolb 3.360 3.360
OJI2YRLBSZ O]
20,0003 x 142 ~13|x 122 3,360
203 HR=4Y] 8,870 9,680 2810
01 J 22 HR LI 5,610 6,270 AB60
(OPJEC sopehes B obatSlal 6,600,000 85% 5,610
02 32 JRHH 2= 560 560 0
O&&IRt=s 40,000 143 560
M EASHLRFAH 2,700 2,850 A150
ORNESgE =AY
250,0003 x 122 «90% 2,700
SIS At B 262,029 294,558 N32,529
TR AE XA 142,959 174,268 A31,309
FUXAME 29 100,839 113,35 A12,517
201 2= 38,239 48,536 10,297
01 At22t2lH] 31,239 37,836 26,597
O=2UXXIHE 2 MEHI
320,000 122 3,840
O=8XtRI3 22 F4=E
50,0002 x40 = 12& 24,000
O=F2UXK 2zl =&
10,0002 *502*23] 1,000
ozzg| 2,399
—FOIMXIME SOIAHIAAY 8|
110,000& * 122 1,320
—ABOIEBR| AL
89,850 * 122 1,079
2 Ss52g4l 7,000 10,700 23,700
OZ33x2= € HMAl 6,000
—&5R= 350,000& 122 4,200
—Sties 150,000& * 12 1,800
OAI2 &= X 1,000
—FUXXEE AlE RXE
1,000,000 1,000
301 EtE NS 42,600 57,120 14,520
14 JIEt2d=3 42,600 57,120 14,520
O=2IXXIHE A=
30,0002 *102*92|« 123 32,400
OXESALAF AHIE2 4
10,0002 x 1 *252 * 12 3,000
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FAAMES
M AES A3
Rl RIS AA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S NSA2ZEoM 29 7,680 7,200 480
201 er23 | 7,680 7,200 480
01 AfR22IH| 7,680 7,200 480
O NAMSIBEEIN 319 &A Y
40,0002 x 162 * 122 7,680
sy X 119,070 120,290 A1,220
S - gy 2l 114,994 120,290 N5,296
301 Eet2 NS 114,994 120,290 N5,296
o7 8801 - H¥Es2a3 110,890 115,570 24,680
Osd+< 300,000 x23E «12& 82,800
OosEYN= 300,000 x23& *23] 13,800
OS2 #4+¢
20,0002 x232+23|x 12 11,040
ogt3dt= 25,0002 65 H *23] 3,250
14 0Bt 2as 4,104 4,720 A616
O - 2 X238 SEHNSE 7Y 4,104
— B D)2 S (20L)
57022002 *30* 12 4,104
SN BE==2Z 4,076 4,076
401 AlZHIZ S 0HbI 4,076 4,076
01 AlZH| 4,076 4,076
outlzZ sl &= & =E33A
4,076,000& 4,076




